goboobooobouoobobd

goboo o.goboo

e-mail: mochizuk@math.chuo-u.ac.jp

PP U U a
14l 08 el —a— Bt el —a+ Q)
a--- a---
010 -4+~ |
(R (S
U5 | tan (t§> tan €E>
1707 |u=[ e u= | eI
a3 fotsiny/ct fot siny/ct
2 2/c
27| 04 | FA=r,=-.. FC—p, =
30 | O 11 | g = 9.8[m/sec]? g = 9.8[m/sec?]
38| 01 |L=M3:KM> A=M":KM 2
30 | O 11| (2.50) (2.51)
013 | (2.51)0...(2.51) 0 ... (2.50) 0 ...(2.50) O ...
46| O 6 | OO 3.2 agd 3.1
S | 09 (Oonoonod goooon
580 01 | g(A)=A=A)™- | gi(A) = (=1)"(A=A)™ -
59 06 | (A=) (A= X)m--
60 | OS5 [0O0O 4.5 oo 44
04 (00 44 g 4.3
0 1 0 I
61| 06 :<_AO> :<_AO>
[ w (o
”_<u2> ”_<u1>
62 | O 11 :eAt< o ) :eAt< ot )
—ct .- —ct .-
67 | O 11 | wiC?[a, b] u € C?[0,/)
0|09 |= _ L/
2me
06| = " = () ¢ :"':(_1)—ni
2V, 2vV A\, 2\, 2\,
72106 0055 oo 54




PP a U a
012 <(b—a)l/4 <(b—a)/4
771 03 (52 (5.3)
78 6 —/\u1:f2... —)\ngfg"-
bo bO
n _
i i=yu o
79109 |¢(x)>1+6 p(x) >146
80| O3 | f0O0O00ODO v 00000
n k
08| > - <IfI? Do <
n=1 1 9 n=1 g 9
O 11 — — e
() 12 X(5) 25
0 10 {Z( . )2}1/2!\ 'l {Z( NV g
—)} I RRELL
81|10 14 @+Z... @_‘_Z...
2 O 2 O
85 0 8 —k(k — 1)&k — Q(k — 1)ak— —l{(l{ — 1)&k — Qk&k—
[n/2] [n/2]
n=0 k=0
86 | U 6 | Rodoriguess [J [ [J Rodrigues 0O 0 [
O 1 | Rodoriguess O O O Rodrigues 0 O O
89| 04 (0000 1.6 OO000d 6.1
0| 02 |=u/+2ujw +--- = ufw + 2ujw’ - -
07 |= v _n
U1 U1
91 | O 10 | {a(a—1) —actuyg =0 {a(a—1) +actuy =0
03| 08|y au=o0 S
¥l ¥
05 -~-)—u+au:0 ~)—u—au:0
dy dy
(=1)"ao _ (=1)"ao
9 | O 10 = ce=
2-4-4242v)(4+ 2v) 2-4-(242v)(4+ 2v)
N I e e = (1) (/2)2m
S A= mil(m —v+1) A= mll(m+v+1)
100 | O 11 | Hannkel OO Hankel [0 0O
104 07 000, p(x) 0 C?00000,000
08 | w(y) =plx) " v(z) w(y) = p(z)"*o(x)
3 p'(z)* — dp(x)p" (x)
0 12 = — = —
012 | My) = p(z)"g() h(y) = p(x)*g(x)




PP a a a
106 | 010 | (OO 3.6) (00 32)
107 O3 (O0O0O0Od ooono
100| 05 |000000 (85),(86) | 000000 (8.8), (8.9)
1o 02 |(87oooo (84)0000
014 | aqw,(0) — aqw,(0) =0 | apw,(0) — ayw, (0) =0
08 | Bau(l) + Brug(6) = -+ Bou(l) + Bru'(£) = - - -
115| 06 |00 55 () 00 54 (i)
1 1
07 | Sl > ga)] | Tarfhic2er > (o)
013 |00 55 (i) 00 54 (i)
16| 03 |..> %67—“ > %mieﬂl
116 | O 6 (OO 8.8,95.95 00 88,54
—1 —a1f
117, 07 | —A...
w(g){ } w(% {.}
- — P
06 | ——...
gt o )
011 00 8.10 oo 89
118 O 3 (U0 8.11 oo 810
06 |00 82 00 82
119 | O 4 | 84000 54 oo 5.3
128 | 0 9.3 | 0(t, x) 0(x,t)
132 04 | [E-s= [ B vas [Es= [ B-ras
r r r r
133 | 01 | Amper Ampeére
O 11 | Amper Ampere
2 2
134 | O 13 a—E a—E
o a7
0 15 a—H o°H
ot ot?
01 E(x):/~-~:v/-~- E(x):—/~-~:—v/~-~
139 | 011 |v(z,t) 0 D v(z,t) 0 D\I' O
152 | 0 10 | wole) = / A€)e 8 de | uo(x) = / A(€)e e de
158 | 010 | (1.3),(1.1a) (11.3),(11.1b)
06 | (11.1a) (11.1b)
O5 |O000TOOOO oo0gtogoao
0%u 0%u
159 | O 13 | — —
o " o2
08 | TWX(2) = TOX"(2) | T"(0)X (z) = T(#)X"(x)




PP a U U
1 0°V 1 0°X

161 08 | b 5t St
162 | O 11.2 | n=...j=.. n=..m=..
166 | 04 | (Jz| >0) (|z| > a)

06 | (z[>0) (lz] > a)
169 | O 8 | (x1,29,...,7,) (x1,T9, ..., TN)

010 |§11.200000000 1140000000
171 | O 10 | Huygence Huygens

t t dT

-8 /047?(15—7’)/ /047T(t—7')/

72| O 13 < sm@@sgp —.smﬁsnup ) < COS@C.OSgO —.smesmga )
cosfsing sinfcosp cosflsing sinfcosp

183 06 |---u(y+ew)dsS, cu(x 4+ ew)dsS,

6 oo 1.1 0o 13.1

04 | Bg(z)000O Br(z) 000
184 9 32Ninf--- < 3"Ninf - -- 32Ninf ... < 3"Winf. ..
185 | O 7 | (13.7) 00

02 ) fly)ldy ol —y)ldy
186 | O 2 W W
187 (s Ah =0 Ah =0

0 12 | Lapalce Laplace

05 | 8B(y) OB.(z)
200 O15 | 00O p(z) = —3/16¢(x)

((83)00000 0o




